Proposal Det	ails		Back	Convert To Order
			Re	ject Delete Edi
F	Proposal Number: 2110352846			
	Created By: Peter Martin			
	Phone Number: <u>8045565614</u>			
	Created On: 10/08/2021			
	Comments:			
Item Picture	Description	Total Quantity	Unit Price	Total Price
	13-inch MacBook Air: Apple M1 chip with 8-core CPU and 7-core GPU, 256GB - Space Gray (5-Pack) ス	250	879.00 USD	219,750.00 USD
	MGNG3LL/A Specifications >			
	Estimated Shipping: 2–3 weeks			
	10.2-inch iPad Wi-Fi 256GB - Space Gray (10-pack) 🧷	380	444.00 USD	168,720.00 USD
	MK433LL/A			
	Estimated Shipping: 7–9 weeks			
	Brenthaven Edge™ 360 Case for 9.7-inch iPad (5th & 6th Gen) - Gray - Special 10-Pack Pricing	40	349.50 USD	13,980.00 USD
	BNBW2LL/A			
	Estimated Shipping: Sold Out			
	Brenthaven Edge™ 360 Case for 9.7-inch iPad (5th & 6th Gen) - Gray	400		
	HM722VC/A			
			Subtotal :	402,450.00 USE
			Estimated Tax :	0.00 USE
			Total :	402,450.00 USE

Proposal

Proposal Number

2110530478

Created On

01/26/2022

Created By

Peter Martin

Thank you for creating your proposal, details are provided below. You can access this proposal from your Apple Store for Education Institution by searching proposal number 2110530478.

Account Number/Name

GOOCHLAND CNTY PUB SCHLS

24314

Item	Product / Description	Total Quantity	Unit Price	Total Price
1	MGNG3LL/A 13-inch MacBook Air: Apple M1 chip with 8-core CPU and 7-core GPU, 256GB - Space Gray (5-Pack)	20	879.00	17,580.00 USD
	 Specifications System on Chip (SoC): Apple M1 chip with 8-core CPU, 7-core GPU and 16-core Neural Engine Memory: 8GB unified memory Storage: 256GB SSD storage Input: Touch ID Thunderbolt: Two Thunderbolt / USB 4 ports Trackpad: Force Touch trackpad Display: Retina display with True Tone Pro Apps: None Logic Pro: None Keyboard Language: Backlit Magic Keyboard - US English Accessory Kit: Accessory Kit 			
2	MHY93LL/A Apple TV HD 32GB	5	149.00	745.00 USD
3	MKGW3LL/A 14-inch MacBook Pro: Apple M1 Pro chip with 8-core CPU and 14-core GPU, 512GB SSD - Silver (5-pack) Specifications • Configuring this product is currently	15	1,829.00	27,435.00 USD

	unavailable: COUNTRY KIT,5-PACK			
4	MGNT3LL/A Mac mini: Apple M1 chip with 8-core CPU and 8-core GPU, 512GB SSD	5	849.00	4,245.00 USD
	Specifications			
	 System on Chip (SoC): Apple M1 chip with 8-core CPU, 8-core GPU and 16-core Neural Engine Memory: 8GB unified memory Storage: 512GB SSD storage Graphics: 16-core Neural Engine Ethernet: Gigabit Ethernet Pro Apps: None Logic Pro: None Accessory Kit: Accessory Kit 			
5	BPGJ2LL/A Brenthaven Edge 360 Case for 10.2-inch iPad (7th and 8th Generation) - Gray - Special 10-Pack Pricing	5	349.50	1,747.50 USD
	Bundled Item Brenthaven Edge 360 Case for 10.2-inch iPad (7th, 8th, and 9th Generation) - Gray HNWC2ZM/A	50		
6	MK433LL/A 10.2-inch iPad Wi-Fi 256GB - Space Gray (10-pack)	50	444.00	22,200.00 USD
7	HM6V2ZM/A Logitech Crayon (Education) for iPad	200	49.95	9,990.00 USD
			Subtotal	83,942.50 USD
			Estimated Tax	0.00 USD
			Total	83,942.50 USD

Please note that your order subtotal does not include sales tax or rebates. Sales tax and rebates, if applicable, will be added when your order is processed. Your order total may include estimated sales tax that is subject to change at the time your order is processed.

How to Order

If you would like to convert this Proposal to an order, log into your Apple Store for Education Institution and select 'Proposal' from the pull-down menu. Search for this Proposal by entering the Proposal Number referenced above.

Note: A Purchaser login is required to order. Visit your Apple Store for Education Institution to login or create your Purchaser Apple ID.

Part Number	Description	Quanity	Unit Price	Shipping	Total
652-00051	25PK,MAGSAFE2 POWER ADAP (45W) 661-00529 Student	4	1,580.00	6.95	6,326.95
652-00130	SVC,ADAPTER,USB,12W,TXTR,25-PK,661-03943 Student	4	380.00	6.95	1,526.95
661-02394	SVC,MLB,2.2GHZ,HSW,TURBO,8GB,13 MBA Student MLB	30	307.12	6.95	9,422.10
661-02397	SVC,LCD,DISPLAY CLAMSHELL,13,GLSY,MBA Student Display	7	307.12	6.95	2,189.49
661-04570	BATTERY,LITH ION,50WH,MBA 13" Student Battery	7	96.75	6.95	725.90
661-07951	SVC,ENCL,TC,W/BAT,ANSI,SLVR,MBP13" Staff Top Case	2	149.25	6.95	312.40
661-08140	SVC,MLB1.8GHZ,HSW,TURBO,8GB,MBA13" Student MLB	5	307.12	6.95	1,570.35
661-09710	SVC,MLB,1.6GHZ,8GB,256GB,MBA13" Teacher MLB	8	307.12	6.95	2,512.56
661-09733	SVC,DISPLAY,GRAY,MBA 13" Teacher Display	3	307.12	6.95	942.21
661-09736	SVC,TOPCASE/KYBD,ANSI,GRAY,MBA 13" Teacher Top Case	10	219.12	6.95	2,260.70
661-10345	SVC,TOPCASE W/BAT,ANSI,GRAY,MBP 15 Staff Top Case	1	527.12	6.95	534.05
661-11676	SVC,BATTERY,MBA 13" Teacher Battery	20	96.75	6.95	20.74
661-11677	SVC,TOUCH ID,MBA 13" Teacher Touch ID	6	60.72	6.95	406.02
661-12592	SVC,TOPCASE/KYBD,ANSI,GRAY,MBA 13" Teacher Top Case	1	219.12	6.95	226.07
661-13163	SVC,TOPCASE W/BAT,ANSI,GRAY,MBP 15 Staff Top Case	1	527.12	6.95	534.07
661-13579	SVC,IPAD 7TH GEN,WIFI,128GB,GRAY	2	379.05	6.95	772.00
922-9173	POWER CORD	100	9.00	6.95	906.95
923-0065	KIT,KEYCAP,BLACK,BACKLIT,D	5	9.00	6.95	79.95
923-02813	SVC,PCB,USBC,MBA 13"	2	14.00	6.95	41.90
923-03030	SVC,KIT,KEYCAP,ANSI,US ENGLISH	1	39.00	6.95	45.95
923-0438	TRACKPAD, MBA 13"	10	45.00	6.95	519.50

Total

31,876.81